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SOCIAL WORK
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.
1. Which among the following is not a component of client case-worker relationshipy ?
(1) Acceptance (2) Autonomy (3) Confidentiality (4) Referral p
{
2. Which of the following is a Reference Group ? | [
(1)  Occupational Group
(2) Group taken to evaluate one’s own aspects of life - - o
(3)  Group which allows social mobility iy | (
(4) Group for sensitivity training /_/ ’
,-‘ |'
3.  Which one of the following stages of grogp developn‘lent represents established rules,
standards and directions ?
(1) Forming (2) Storming (3) Q{ming : (4) Performing
4. rejects the idea that a small ‘homogeneous rgroup dominates community decision
making. - | 4
(1) Social model y: © (@ Pluralist model
(3)  Locality development thodel (4)  Social action model
5.  The study of group k;Fhaviour and its interaction with the members is :
(1) Group process ' \ (2) Group Dynamics
(3) Collective behaviour (4) Group Cohesion
|
6. / Who studied the'gffectiveness of Social Case Work ?
(1) Fisher Joel f , (2) Peter Drucker (3) Adam Smith (4) Edwin Flippo
7. Who wrote the book “Fieldwork and The Field workers” ?
(11 M.N. Srinivas  (2) S.C. Dube (3) T.B. Battomore (4) G.S. Ghurye
L]
8. Whiéhrone of the following is not a principle of Social Case Work ?
(1) Specific objectives (2) Confidentiality
Individualisation (4) Acceptance
||\||H||“|H||IHH (I z
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10.

11.

12.

13.

14.

15.

16.

17.

18.

The high-level committee on Socio-Economic Health and Educational Status of Tribal

Communities of India was chaired by :
(1) M.S. Gore (2)
(3)  Yogendra Singh 4)

Virginivs Xaxa

Veena Das

David Gil has pointed out that the essence of Social Justice enables people to meet

their )
(1) Intrinsic needs (2)
(3) Esteem needs 4)

{
Who among the following is best associated with the causal-functional method ?
Adam Smith

(1) A. Comte (2) H. Spencer

Extrinsic needs

Actualization needs

(3) E. Durkheim

Ty

" Sk
Identify the right sequence among the following stagesgiven by Sigmund Freud :

(1) Anal, Oral, Phallic and Genital
(3) Anal, Oral, Genital and Phallic (4)

|

¥

The process of mutual influence between social worker

(1) Relationship (2) Understanding

L
Which one of the following is not the finction of Community Council ?

(1) Fact finding q”* (2)
(3) Promoting public underkai(mg (4)

(}él Anal, Phallic and Genital
Cemtal Orihl Anal and Phallic

_.'

(3) Reflexiveness

-

Fund raising

Co-ordination of activities

A Peer group is prlmarlly formed on the basis of :

(1) Sex (2) Age

|

(3) Caste

‘Gemeinschaft’:is the term used to refer a/an :

(1) Society (2) Community
F F

(3) Institution

and the client is called :
Rapport

Religion

Association

‘The interaction bttween the coping activity of people and the demand from environment’ is

called :
(1) # Individual functioning (2)
(3)'. Community functioning (4)

|

‘Id’ in Freudian scheme operates on :

(1) Pleasure Principle (2)
(3) Realism 4)
oo [N :

Group functioning

Social functioning

Secondary Principle

Idealism

Paper-III
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19. Which of the following strategies would be most suitable during the issues of difference in a
community ?

(1) Confrontation (2) Bargaining (3) Persuasion (4) Collaboration

20. Which of the statements is not correct with regard to lock-out as per the Industrial Dispute

Act 1947 ?

(1) Lock out is temporary.

(2) Lock out is a weapon of coercion. r

(3) Lock out is resorted to by the Employers. ;

(4) Lock out is resorted to by the workers. {

{ r

21. A manager may delegate any of the following except :

(1)  Authority - 48

(2)  Work load y .

(3)  Responsibility : I E

(4) Attending meetings to represent the dep rtment

22.  What is meant by the term “‘Management byr Ob]ect
(1) A system of giving authority to carry out job df
perts

(2) A system of management to develop a team of
(3)  The setting of objectives to brmﬁ about the achl?vement of the corporate goals.
(4)

The control of organisation by ihose in head office
4
23. Arrange the following 1eg1slat¥oi1s in the order of their chronological enactment :
(a) The Employees State Insurance Act
(b) The Employees Provident Fund (Miscellaneous Provisions) Act
(¢)  The Maternity Benefits Act
(d) The Workmen s Con‘{pensatlon Act
Codes :

1) (@), (b)/'(@/ d @ ®)© @ @ G (© 0@ d @ @@ ®)c

a
24." Arrange the follofvin}g in a sequential order of historical development of social work :

(a) Welfare (b) Development

(¢) Charity and Philanthropy (d) Empowerment
Codes : |

(1) @ (©) () and (b) (2) (@) (a), (b) and (d
(3)' (), (), () and (d) (4) (@, (), () and (a

w

r
25. Which of the following is not a record in social work practice ?
Process Sound (3) Summary (4) Narrative

IHIIHIH\IH il |H|“|\|H||\|HH|||\|\|\H||H||

=)}
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19.

20.

21.

22.

23.

24.

25.

o-aos [ AL HATI

freafafad § @S- WHIT fHd Taem | 7a9e & SRA 9o8 1fus Sugad g ?
(1) H&HE & (2) Weast FA (3)  TARA (4) TN LA

ANt foare stfufad, 1947 o ATIR ATER] (ATH-3T8e) & oY H HIH-91 HIT §&l Tal § ?
(1) drcrecr sTeemet Bt 2 |

2) e TS 1 EaR Bl T |

(3) TS 1 WEW frAERS g fore S ¥
(4) TITEET 1 WER HHBRI G forn S €1

ey fhe T & faam frefafed fedl &1 ff TamifSd (delegate) X T E -
(1) TSR (2) wHEYR
() IHMFE (4) ﬁquﬁﬁfwaﬂﬁ%ma‘aﬁﬁmaﬂ

(
' 3eYE g geY ! U o 1Y § 2 f-‘ »

(1) =l o1 T < forg wferehm fow ST skt et

) ﬁﬁmwwﬁww%mwaaﬁm

(3) aﬂqﬁza?@ﬁmaﬂﬁ%mmﬁﬁﬁa%‘j
(4) TEAEE o AR gRI e 1 s

frfafea stfufrem =1 s @ STF%Tﬁ'ﬂ'FEHﬁQ Sk ohlcﬂqvulgw{ ALY HIToT :

(a) HHAR T St S

(b) wHHAR Wl iy (qaﬂr ma) STt

(c) I o4 SffTaH

(d) FER affd st

%< ' {

1) (@), (b), () (d) (2) (b),(c) (a) (d) (B) (o) (b) (a) (d) (4) (d) (a) (b) (o)
"4

, Frefafad =1 w1 o et foem & gha | saftad it :
L @) wem | (b) T

—

¢) M R AMF I (d) TR

1

(@), (©), (d) 3R (b) ) () (a), (b) &R (d)
(), (0, (@) ¥R () 4 (d), (), (0) ¥R (a)

(
(

@D =
NN

ﬁmﬁ‘f’@ﬁﬁﬁﬁ?wwmmwwﬂﬁﬁwéﬁ%?
(1) wfsea 2) =fq (3) 9w (4) 9id

|
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26. Human Development Index is a composite of :
(1) Income, Trade and Investment Indicators
(2) Poverty, Human rights and Unemployment
(3) Income, Trade and Education
(4) Education, Longevity and Income
27. The practice of untouchability is abolished by the Indian Constitution according to ‘Article :
1y 17 Q) 47 3) 39 4 16 |
L
28. Mahbub Ul Haq has pioneered the concept of : { r
(1) Human Poverty Index (2) Gross National Development Index
(3) Economic Development Index  (4) Human Development Index * )
29. Which one of the following are the methods of no_n-prabability{ sampling ?
(a) Purposive Sampling (b) E;xfgwball ‘ngpling
(c) Stratified Random Sampling éystematic Random Sampling
Codes : ,f
(1) (a) and (b) only 2) | (b) ana ag only
(3) (a), (b) and (c) only 4) (a), d only
30. leader unilaterally decid fs tajor plans for the team to follow.
(1) Autocratic (2) D}efﬁoq_ratm (3) Laissez faire (4) Charismatic
31. f-test was introduced by . 3
(1) Karl Pearson « (2)~ Karl Popper (3) R.A. Fisher (4) E. Kilpatrick
£ ‘
32. ‘Terms Of Reference’ (TOﬂ) includes :
(a) Time D}ménsion (b)  Expected Results
(c) Problems and Limitations (d) Acceptance of References
" Codes : 4 )
(1) (a), (b) and f(d) (;nly (2) (a), (b) and (c) only
(8) “(a) (c) and/(d) only (4) (b), (c) and (d) only
33. What is meant bly the term “‘Employee empowerment’ ?
(1)% A process of giving an employee greater autonomy and decision making power
AP 'To encourage workers to move more freely
(3) The opportunity to share organisation’s profit
(4) A formal system of leadership that relies greatly on control
e

@
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26. M4 fqh™ Yowiw A0 g
(1) 3, =R iR fa o &6
(2) TAea, AFETfER SR ISR &
(3) 1™, AR 3R frem =
(4) forem, <rEfgar &R s
27. ¥RA & S9N % ®F-9 AToD] F G STEITAAT i T I FAG fohan 721 § 2 )
1y 17 Q) 47 3) 39 @ 16 © °
28. HEE-HA-Bh %1 Heheodl & JuIal 9 f "(f‘
(1) @ e gerehish ) HHA UL T Yeshish
3) enfde fasm gaais (4) T4 fow™ gEwE
TR N USRS Gg Sp—— gy, W S e S
(a) wERHE wirest @ (b) Gifere wfest @
(c) i@ agfese gfdes o (d) ,mwmm
?1? A (a) SR (b) @ | ¥ (\}ﬁ? ©
(3) F (a), (b) 3R (c) (4)  F (af, (c) )
30. ﬁmmmﬁmm@%%mmaﬁgﬂmﬁmm&ﬁamﬁaﬁ%
1) frigw (2) Flfli?‘: T (3) TEeIEAEN (4) =Hfcer
31. UH-OF HY YOI Y S off ¢
(1) e T R ) HE TREN (3) ORT fRRgm (4) 3. foadfes g1
32, “‘fermmsi fawa (ord arrqs%qfw) (FFeia) F St o
(a) = HET, (b) ety giomH
_ (c) FHE=R aﬂ?“fﬁﬂm (d) =4l F Hipfa
| ?gl_; e (@) <bf o (d) (2) I (a), (b) 3R (o)
(8) "I (a), (¢) ¥R (d) (4) I (b), (c) AR (d
33. HHTN H%qu"lqnulu e T qIeqd 41§ ?
(1), et efemd 1 s siferes T o fvfa o @ wf TeT w F AR
Qlay aﬁaﬁﬁaﬂxa{ww‘am@wﬁsﬂa@ﬁmmm
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34.

35.

36.

37.

38.

39.

40.

{
Which of the following is commonly associated with old-age ?
(1) Hansen’s Disease (2)  Alzheimers Disease -
(3) Cancer (4) lﬁl,betés" (
-
I|
Article 275 of Indian Constitution provides for spegial zg}r’rams to
/ J
(1)  Youth Welfare (2) | Women Welfare
(3)  Tribal Welfare (4) ' Rural fare
i (
Social Pathology means : % .
(1)  Study of social institutions™ j‘r
(2) Study of peoples problerhs1I
(3) Study of origin, nature and causes of social ills
(4) Study of emergence of social movements
|
Social deviance represents a behaviour which :
(a) - is in a disapproved direction
/(b) goes beyond the tolerance limit of society
(c) violates the orms of the society
(d) _invites a societal action
Choose correct answer from the codes given below :
(af (@) and (b) (2) (b) and (d)
() ,©and @ (4) (), (b), (0) and (d)
r
Which of the following is a victim less crime ?
Gambling Assault (3) Murder 4)
IHIIHIH\IH !II!IH|||H|“|\|H||\|“H|||\|\|\|\||H|| 10

Neo conservative approach is otherwise called as :

(1) Feminist approach (2) Radical Socialist approach

(3) New right approach (4) Social democratic approach

Rashtriya Mahila Kosh is also known as :
(1) National Commission for Women
(2)

(3) National Commission for Protection of Girl Child
(4)

National Credit Fund for Women

National Commission for Prevention of Sati

Ty

Rioting
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34. 19 Efedt giEhIv I T4 el W ¢ -
(1) Themt gfesm (2) SAfqaE! AEISRdl 1 gieh
(3) A AfuwR e (4) EHISR ATRdifIh gIeshivl
35. T Hfeen w9 H oft el ST R
(1) AT FHHEH B FHA
(2) FHA shfee He R IHA
(3) YA FHHRME HR WeRM H Tad d5ee L
(4) A HHRE R A=A E qdl f ,
36. fHAfAfEd § ¥ HA-91 GHME IR R JSEE ¥ Fafed €2 :
(1) BTEAT 2) AEEWIT
() F @ 1@%, % |
37. YR % TaM #1 ST 275 %ﬁﬁfqﬁrﬂﬂa@-—rwmaw%
(1) 7 F (2) | wfeen i;’g
(3) TSI el (4) ' J
38. gt fasfd fom & o1 Ve (
(1) ST Heensli 1 e ﬁff '
(2) NN S g W AT
(3) WIS JATAT kT I, Thfa TR HROM w1 1eaH
(4) HHIST STT<Iol % SEWe I LI
i
39. gmifse fa=er T TR 3!5 RUGIRAS I
(a) awﬁmfim i
(b) TS Y T B BT H W AR A A B
[ © W%Wﬁ#ﬁ%w%
(d) wrmfeT a:rga’rs‘ 1 AT A ©
7 %2 § W&l ST 1 =TI HifSw
1) (a) R (b) 2 (b) 3R (d)
(3) (9) ¥R (@) 4) (@), (b), (@ R (d)
40. frefafea § § sH-w difea Wea oy 22
(1) o7 S (2) W (3) == (4) m
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41.

42.

43.

44.

45.

46.

47.

Toll free Helpline number 1098 helps which category of persons in distress :
(1) Women (2)  Children (3) Elderly (4) Accident victims

NCRB in India stands for :

(1) National Crime Records Bureau

(2) National Criminal Records Bureau !
(3) National Commission for Rehabilitation of Beggars II /
(4) National Commission for Resettlement of Beggars f 4 .
Borstal School is associated with : . . ,
(1) Insane offenders (2) Young_oﬁfenders{ .’;
(3)  Adult Male offenders (4) éld{,llt Ferﬁalle offenders
."rlf | I'I
First Aid Box is to be provided for / wor‘ers .";15 per the Factories Act, 1948.
(1) 125 (2) 135 @ 1 ‘ (4) 160
A (
A positive correlation is present w}fn Ry
(1) Two variables move in tbe.-l opdposite direction
(2) Two variables move in the same direction
(3)  One variable gees up and one goes down
(4) Several variablds ne:/rer change
The Charitabieindowments Act was passed in the year :
/(1) 1860 ‘f (2 1960 (3) 1890 (4) 1900
The Immunisation Mission that has been set up to reduce morbidity and mortality rate among
children is |
(1), National Technology Mission
(2) "r National Diabetes Control Mission
(3) National Goitre Control Mission
(4) National Rural Livelihood Mission
oo [[[{HNHIAHIN 2 Fapeca
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41.

42.

43.

44.

45.

46. /

47.

Hehe & THI A Hl 2eqalizd TR 1098 frg ot o Aol &1 Trdl Sidl § 2
(1) wfeamd (2) == 3) 98 (4) gefe ifea

IRA H . ©. R At H A ©

(1) e g Rerey =

(2) ra fefraa ey =1

(3) A FHIE BR Refafaeem sfe s /

) e T W e S d {

(4
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4) ST =R e R

‘4
T Ty e T o i fopam T o ?
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48.

49.

50.

51.

52.

53.

Which among the following targets is not included in the 12t Five Year Plan of the Government
of India ?

(1) Reduction in HIV/AIDS to under 1 million
(2) Reduction of Infant Mortality Rate to 25/1000 live births
(3) Reduction of Maternal Mortality Rate to 100/1,00,000
(4) Reduction in Total Fertility Rate to 2.1
I:; 1
The International convention on the elimination of all forms of racial discrimination was
adopted in the year : " |
(1) 1979 (2) 1975 (3) 1965 4) f 1969 F

Which of the following sets of rights is not included in the United Natlons Convention on the
Rights of the Child ? {

(1) Protection (2) Participation (3)‘ ECOI}OHHC (4) Survival

The survival, protection and empowerment o‘f girl child ayre being ensured through which of
the following schemes of the government of India 113 2015 ?

(1) Janani Shishu Suraksha Yojana (2) ' Beti B o Beti Padao

(3) Sabla (4) Janani Sur_akshéJ Yojana
%

e

The Persons with Disabilities (Eq@ial épportunities, Protection of Rights and Full Participation)

Act, 1995 ensures that appropriate governments and local authorities within their economic

capacity and development provide for which of the following ?

(a) Installation of auditory signals at red-lights in public roads for persons with visual
handicap - 3

(b) Curb cuts and élopes{ in pavements for wheel-chair users

(c) Toilets in public buildings

(d) - Engraving on the surface of the zebra crossing for persons with visual handicap

o+ Codes : r
(1) (a) only f Y (2) (a) and (d) only
(3) (a), (b) and/(d) only (4) (b), (c) and (d) only
DDRC stands fcl)r .
(1)|'~ District Disability Rehabilitation Council
(2) y Disability Directorate Rehabilitation Council
(3) District Disability Rehabilitation Centre
(4) District Directorate Rehabilitation Centre
ooss | AN 1 Faper
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48. Rd TIHR i 12 goauig A § Fefafad § @ wHE-91 de e @ o ?
(1) T E /TS &l ®H &k 1 ffees 9 = @
(2) Ty g < A1 FHH Feh 25/1000 Siferd S T A
(3) T F X ! HH Hk 100/1,00,000 FHEAT
(4) FA STTALHAT S h! HH Fleh 2.1 FHEAT

49. T YFER F TR VWIS F GUG F G iy sfrma fag od ¥ i e wmn o ?
(1) 1979 2) 1975 (3) 1965 @) (1969 /.

50. freferfan & @ sl ¥ fa 2 B TR T G ¥ A e e § i T8
fra T &2 f
(1) e (2) omiER @) i ) SR
{
SLmmmﬁwﬁwwwﬁwﬁwﬁﬁﬁ%ﬂwﬁﬁ%@ﬁﬁw%m
¥ WA Qg e o T 2
(1) T g gRam A aﬂﬁﬁwaﬂ
(3) wa ﬁ

52. T3 =afe (oM e, sifaeml TEge iR qof arfter) aqf%rﬁw 1995 g Gifead & 7
ﬁwﬁﬂwaﬁ'{@mﬁ'ﬂﬁwMﬁ%maﬁ'{ﬁmﬁﬂﬁﬁ'{mwwudﬁ@ ExEn

3USY R ? ) (

(a) it amen | U% AR T S Fe@i &t @ afqdl § g1 faTa (snfeed fama)
TIfod T

(b) =R =L F TGN F a1l & A Tget Aml W e /g SR g w1 FH HIA

() T e e

(d) @WHJ?WWW%WW I & SIde 9 Sch 01

W i '

W)W@ft (2) e (a) 3 (d)

(3) O (a), (b) 3R (d) @) FFA (b), (0) 3R (d)

53. @%@%Wﬂgﬁﬂdﬁéz
), fefew feafafaet Refafam wrfwa

(1

(2) ¥ feafafaet seirRre REfafedm Hetad
3) fEfex feafafad fRfafaemm a=

(4) fefgw ermRie REfafam a=
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54.

55.

56.

57.

) (
paoss

Which one of these is not an indicator of social development ?
(I) Longevity (2) Literacy

(3) Clean environment (4) Industrialization
Which one of the following is not the characteristic of informal organisation ?
(1) Official norms (2) Earned status by persons

(3)  Unstructured relationships (4) Voluntary interaction { r

Which model of social policy was described as “Hand-maiden Jlmodel” s

(1) Residual welfare model " 1;, ;
(2) Institutional Redistributive model f/ . fl
(3) Industrial Achievement performance 1';1ode1 ‘ "l
(4) Golden hand shake model ,

—t

Y (
Match List - I with List - II e_lnd’nse‘l‘gct the correct answer with the help of codes given :
List - I ._h y List - II

(a) Malcolm Payne (i) Introducing Social work
(b) Lena Dominellii :{ (ii) Introduction to group work Practice
(c)  Joel Fischer (iii) Modern social work theory

iy
(d) R.W. Toseland and Bob Rivas (iv) Effectiveness of social case work

(@ ®) © (@
af @ o le @
o) pv) @) (i) ()
@) @) @) Gv) @)
4 ii)  (iv)

) G
[

i

(
IH

iii)
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54.

55.

56.

57.

/(d)

frefafed & & ®F-91 | fae w1 ga & © 2
(1) < (2) ERa
(3) =S AR (4) STt
frefafad § @ SH-91 SRS e i fawio 8@ ¢ 2
(1) e A H (2) =l g sfSia feafa P
(3) sraYfe wEry @) Sfess s=a:fwn f r
e i % 1 9 Hrew 1 e w5 w9 # A o o E? [
(1) 3Tafre (Residual) hedT0l Higd // | ,: |
(2) HeAfTR qAfSUTHS Aied _a'f , J,I
(3) i Sefer froaed Hiee ’r \ (l
(4) Tieed gvediE Ated __.3
A f
vﬁ-lﬁqﬁ-nﬁgﬁﬁaﬁéﬂﬁqﬂ@ﬁﬁWQWﬁmgﬁm
Tt - 1 - Tt - 11
() FEHICH T g () TErIrET HRI
b) fm ot | (i) TErewM T q9 I% SR
(©) GﬁWfWK (iii) TS e T e
wmz‘?ﬁzmmﬁam (v) TR otw Gve wE T

e :

@ O |© @
@ @ @ S @
@)W @) @) @) @
3 @@ @) (@Gv) ()
4) (@) (@) @) (iv)
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58. Match List - I with List - II and select the correct answer with the help of codes attached :

List - I
(a) Environment
(b) Women Studies
() Trade Union in Informal Sector
(d) Grameen Bank
Codes :
(@ () (o (d)
M @ @) (v) (i)
(2) (@) @ 3> ()
@) (v) (@) (D) (i)
(4) (v) (@) @) (i)

(i)
(i)
(i)
(iv)

List - II
Veena Majumdar
Md. Yunus
Ela Bhatt

Vandana Shiva

-

59. Match the following names of the jougnals given in List - I with the institutions given in
List - II and choose the correct ansyfer from the codes given :

' L

List - I Y4

(a) Indian Journal of Social Work
(b)  Perspectives inlt?ocia'l Work

(c)  Contemporary Social Work

Journal ofyRural Development

( Codes : f
@ ® @ @
O @6 6@
@ J) @) 0 G
@) @) O )
@ G O @) W
o [ INIION

()

(i)
(i)
(iv)

List - II
Nirmala Niketan, Mumbai
N.LLR.D., Hyderabad
Tata Institute of Social Sciences, Mumbai

Department of Social Work, University of
Lucknow

Paper-III
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58. eIt - I 3R Gl - 11 ! GAfad &ifae IR = fSu 7T %31 1 Te&d § T2 3T & == HIfT

et - 1 ql - 11
(a) TR () om TSR
(b) HfEwT e (i) e T
(c) STl &= & gy o= (iii) 3N 9= .
(d) o S (iv) o famen ¢ s
®RE: | f F

@@ () (o (d)
1) () G (iv) (i) _ :
) () @) @) (1) ; Y | o |
G) (Gv) (@) (D) (i) ;‘; \ _,"
(4) (@v) (@) (@) (i) .
/

59. Feft - 1¥ fou g ufemet % fFrefafadem o gt - Hfﬁaﬁﬂémsﬂ@gﬁmﬁmamfw
Fel W e IR F 7T FIC - )‘.'

Tt - 1 __h . Tl - 11
(a) 3fead Sa sk HRmE oo () frden frehad, o
(b) wHUfRE 3T sefer ?fm;{ (i) TA.STE.AREL, T
(©) aﬁtﬂ%ﬁzﬁwﬁ (iii) 27T EfReTe T WA RS, Gog
J(d) TS AT F SeTHE (iv) feuretc 31w Hiera oeh, JMAafd e aaTs

.

@ (b) (0 (d)
1) @ (i) | (iv) (i)
(2;t (iv) @) (1) (i)
@) @) () @) ()
4) @@ @ @) (i)
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60.

61.

62.

Match the List - I with List - IT and choose the correct answer from the codes given :
List - I List - II
(International Initiatives) (National Origin)
(a) DFID (i USA
(b) USAID (i) Canada
(c) CIDA (i) UK
(d) DANIDA (iv) Denmark
Codes : {
@@ (b) (o) (d) rd
O G O @ ) ,f *
@) ) @ @) )
@) ) O @ ) *
4) (@v) (1) () (i) g1~ f
s N L E
Match the List - I with List - IT and select the gérect arfswer with the help of codes given :
List - I JList-11 |
(a) The Social Division of Labour (i) | Durkheim/
(b)  Social Processes (ii) " Charl c oley
(c)  Social Change (i) T.H. shall
(d) Social Class (iv) W.F. Ogburn . ¢
Codes : 4 %
@ ® © @ </
O O @ @ v Yy
@ O @ (v @)~
@) (i) (@) (), 6
@ ) O g ?
Match the following pairs and select the answer from the codes given below :
List -4 List - II
a) Association (i t-test
b) Dispersionf (i) ANOVA
¢) Variance (iii) Correlation
d)  Difference, (iv) Standard Deviation
Codes : |
L @ () S() (d)
W'y i) () @ 0
@ =@ () @) )
3) (ﬁ) (iﬁ) (iv) <i>
(4) (i) i)
T 2 Papec1
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60. T - I 3R eIt - 11 &I gafad Hifee o) = f3u 7T %2 § 9 98 W A1 =997 FHI

et - 1 et - 11
(AT wee ) (T st )
(a) ELUE.TE.EL () ITET
(b) I THETAEEL (i) TS
(c) WemELT (iii) I
d) S TTEIARIT, (iv) STHTER
&R : {
(@ () (o (d)
V) @ 0O @ ) !
(2) @) (@) (@v) (i)
3) Gv) (1) @) (i)
4) Gv) () (D) (i) "
1 ﬁ
61. e - 1 SR Tl - 11 1 Gafaa Hifor iR fou Tl 1 g § Tel ST F1 += FIW :
-1 [ |
(a) 9| I G famH () | 3fEm _.-"
(b) g gfshan (i) | =med qé:;,
(c) WIS gfEdA (iif) T ARAT S
(d) GRS & () ST STRTeA
&R { ;
@ ) © @ |\, ¢
1 @ @) 3G ()
2 @) @) @Gv) (i)
(3) () () (vl ()
@) (v) @) (i) ¢ () ‘{
62. Tr=ifafaa siel & gafad SIS aun 919 fSu gu Fel 9 IW &1 F9a HIf
e - W et - 10
/(@ wH 4N\ Q) A=
(b) fagmo f ' (ii) ST
(c) fagmfa (i) HEHEY
(d) = o .I (iv) WM fo=ed
E‘h—f :
L@ ® @ @

) L) @) @) 0
)T ) i) @)
) O @ @0

( ) ® ()
AL 2

(
D-1015 ‘
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63. Match List - I (Concepts) with List - II (Theories) and select the correct answer from the
codes given below :

List - I List - II
(Concepts) (Theories)
(a) Reinforcement (i) Transactional Analysis
(b) Free Association (i) Behavioural Theory
(c)  Scripts and Strokes (iii) Psychoanalysis \ y
(d) Boundary (iv) Social Systems Theory "(r'
Codes : !
@ O © @ : '
M @ @ o S
@ ) @ @ @) P
@) ) ) @ @) £\ |
@ O @ G ) /

F
Fd

64. Assertion (A) : Group is a web of social relationshipse= =

%
Reason (R) : Members have self fiir'écted goals.

Codes : LN 4
Ly
(1) (A) and (R) are not cotrect

(2) Both (A) and (R) are correct but (R) is not a correct explanation of (A)
(3) (A) is correct bt (R)}is not correct
(4) Both (A) and (R) are correct and (R) is a correct explanation of (A)
‘4
65./ Assertion (A) : "Ehilrdren are discriminated world-wide and subjected to abuse and neglect.

Reason (R) : he child rearing practices determine the conditions of children in any given

Isociety.
Codes : |
(1), Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(2) ‘j" (A) is correct and (R) is not correct
(3) (;\) is not correct but (R) is correct

Both (A) and (R) are not correct

ST
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63. el - I (GeReaaTedl ) i geit - 11 ( fagial ) 9 gafaa IS oiR Fe ¥ 98 S &1 =997 Hi

el - 1 T - 11
( HeRTUATAT ) (fagiat)
(a) oo (REwEHe) (i) Geraer favawo
(b) e W (I CEIRIQEH) (i) SRR Hid
(c) Torew we Ee (iii) AT
(d) =g (iv) @ISR Yorett 61 fogid {
%< : " :
(@ () (o (d)
1) (@v) @) @ | JE.
2) @) G @ (v) P
®) @) (i) @ (v) ;/.‘J
@ 0 G Gv) G / \
64. SIURIT (A): TS TIHISIH Faiell 1 e T | ‘j y
T (R) : geEl & e e | 'l
% - Vv ) '

1) (A) IR (R) T& & 21
(2) (A) 3R (R) < @ § g (R), (A) F1 T TR 7 2
3) (A)@%,W(R)W%{lﬁ%l
4) (A) 3R (R) I T& € &R (R), (A) FT1 Tel TILHI |
‘4
65. / 3TFHAT (A) : ﬁwﬁaﬁ%mw%mmw%aﬂiémaﬁisﬁwiw%
HIT (R) : oft fau 7T g9 A I & e 9907 i gUd o= i ewn it s ¥
&R '
(1) (A)sﬁt(R)lﬁﬂé%W(R),(A)wWw@wmﬁ%n
)y (A) TE # Foreg (R) T B
(3) (&) T & o (R) W& R
(A) 3R (R) S Terd |

Do HIH\IHHI||||\|||M||\|H|\|||||H|!|“II\HH\I\HII\ :

W
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66.

67.

68.

69.

70.

Assertion (A) : The behaviour of every individual is judged by people.

Reason (R) : One’s behaviour depends on the roles one assumes and the way they are
performed in the context of social milieu.
Codes :
(1) Both (A) and (R) correct and (R) is correct explanation of (A)
(2)  (A) is correct but (R) is not correct
(3) (A) and (R) are correct and (R) is not correct explanation of (A)
(4) (A) is not correct and (R) is correct {
rd
Assertion (A) : Society is stratified. ] f
Reason (R) : Stratification is due to race and ethnicity.
Codes : - 4
(1)  Both (A) and (R) are correct but (R) is not correct explanétiorf of (A)
(2)  (A) is correct and (R) is not correct /_‘4 P E
(3) (A) is not correct but (R) is correct / |
(4) Both (A) and (R) are not correct I"I ' fl'
Assertion (A) : Social work is a human service pro‘q\égion.
Reason (R) : Social workers acquire knowledge, skills and;values in dealing with human
problems. ¥
Codes : - 4_'{
(1)  (A) is correct and (R) is hat correct

(2)  (A) is not correct and (R) is correct
(3) Both (A) and (R) are correct and (R) is not the correct explanation to (A)
(4) Both (A) and (R) are correct and (R) is the correct explanation of (A)

Assertion (A) ; | Action research can enhance the visibility of professional social work.

Reason (R) : & All social work research is an action research.

" Codes : i
(1) (A)is correft and (R) is incorrect (2) Both (A) and (R) incorrect
(3) (A) is incorrect and (R) is correct (4) Both (A) and (R) are correct
|
Assertion (A) : / Social work research always includes testing of hypotheses.
Reason (R) : Hypotheses are the logical deductions derived from review of literature.
Cod:!s g
(1) Both (A) and (R) are correct (2)  (A) is correct but (R) is not correct
(3)  (A) is not correct and (R) is correct (4) Both (A) and (R) are not correct
oo [T 2 papercn
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66. SMURIT (A) : TAF Al & TR 1 07 AN g1 foharn Trerm 21
IO (R) : Ao 1 BRI R ULV fhT T ITETAE 1 AT aTarerol & Hed §
3% Fromfeq & & dlel W fdt e €1
?1_){: (A) 3R (R) THT T&t € IR (R), (A) T TEI T<HT B
(2) (A) & g (R) T ¢
(3) (A) 3R (R) T 7 31 (R), (A) FT Tel TH=IHI0T T T |
(4) (A)7TTd § 3R (R) 9 B /
67. SATUHAT (A): THAN WFd e T f f
HTT (R) : TR, T SR AT & RO T |
?1_)6: (A) 3R (R) 3F =& ¥ fg (R), (A) 1 T STt e 2 J,i-
2) (A) W& B 3R (R) T T A P
(3) (A) T € fog (R) W&t 2 / i
4)  (A) 3R (R) 3 T T f
68. ATURIT (A) : menﬂa@mwwg%
HETT (R) : ﬁ?mwﬁsﬁwwe’ﬁﬁﬁm%ﬁﬁaﬁ frgurr o qe wifsfa
| %
he : | 1-{
1) (A) 5E & SR (R) T g A
2) (A) e ® 3R (R) 9 B
(3)  (A) 3R (R) THILTE & 3R (R), (A) FT HEl TR &l |
4) (A) ¥R (R) I EE %iaﬁx (R), (A) T T& T30 ¥
69. IMTURAT (A) 1, Tora STTHeT STErEIiaes AT 1 i AT H iy H qohell €|
T:FI'{'UT(R) wﬁwmr&fagamﬁmwm%
(1) (A)ﬂ%“f% (R)na-cr%n 2) (A) 3R (R) I Tord €|
®) (A)W%aﬁumaéf%l (4) (A) R (R) < W&t ¥ |
70. 311?-17:58? (A) : lW T STTHYM H UReheudrstl &1 T ved Hifad & |
F (R) : IReheTATd ifec i THien ¥ U difeheh f5hd B 21
f‘@)sﬁ?(R)ﬁW%*l (2) (A) T  foFg (R) Tord B
(3) (A) T4 © 3R (R) ¥ B 4) (A) R (R) A T 1
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Read the passage given below and answer the question No. 71 to 75 as per the
understanding of the passage.

It may be reiterated that as no formal system has a complete answer to the problem of
crime. The social defence approach is based on the premise that the criminal justice system
by itself cannot undo such aberration of the wider socio-economic system as are associated
with crime. Even the reduction in crime as a more realistic goal can be achieved only by
extending crime prevention and control measures beyond the criminal justice system and by
building these into a broader social action to curb conditions which produce crime. ‘Such a
perspective requires focussing on two major areas, one is preventing crime by protecting
various vulnerable groups within the framework of social justice and seeond by tre,f\'ﬁng of
offenders in a just, fair and equitable manner, with due regard to their human rights, and on
the basis of a differential handling of individuals who violate law under various kinds of
situational compulsion vis-a-vis those who perpetrate crime in an orgahized manner. While
the prevention of crime would necessitate forging of constructive linkages between the formal
system and various sectors of socio-economic development, the treatment of offenders would
inevitably entail a progressive refinement of the criminal justice processes. With newly
emerging forms and trends of criminality, someé of which are much more volitional and
disruptive in nature, a holistic strategy has gt?;je worked out jointly by various criminal
justice, social welfare and development agengdies. Such a/concept of social defence warrants
not only a thorough reorganization of the traditionally operative crime control mechanisms
but also innovation of and experimentation with ne% approaches in coping more effectively
with the changing crime scenario. f :

'

. f

-

In the prevention of crime, v_&luntary organisations have a definite advantage over
official agencies. A situation opantéd strategy would be based on an optimum use of all such
voluntary agencies as are engaged in protecting the vulnerable sections in society. An
individual-oriented strategy would obviously require working with those who, under
situational compulsions, have fallen to a socially deviant behaviour and still have a chance to
redeem. In all thesejareas, voluntary organizations have to function in conjunction with
families, communities and{other social institutions which have a bearing on the process of
resocialization. |Apart from a direct intervention in situations and problems responsible for
crime, VoluntdargC organizations can be greatly instrumental in moulding public opinion and

in mobilizing sOcial support for an effective implementation of social legislation.
)

71. How can we reduce the crimes ?
(1)" Using situation oriented strategy based on an optimum use of voluntary agencies.
(2), By direct intervention in situations and problems responsible for crime.

(3) - By building crime prevention and control measures into a social action and extending
them beyond the criminal justice system.

By mobilizing social support for an effective implementation of social legislation.

(4)
o-aoss [ NI
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Frfefaa e &t ufe qen wve €. 71 | 75 & A% U HHS o IR WX S :

TH 1 1 A ST ST Fhar ¢ o forslt off ftaenies womett % are sToRTe SRt wHwn w1 Hut
SR T T 1 TSR T8 A LRI A W IRA € S W AIY Y S A i A
JoTTett & AU 1 X Tel L Geohdl €| Ueh ATl e & &9 H o0 H FHHT 1 9ty fhan
S Fhal € S 3TI o Framor R = & 3l &6 Sty = yonelt ¥ W fawafia fear s
3R 3= ooy U1 A arelt g 1 FEfa A 9Tt s amifeeE et & w9 §ER e
ST 8 gided & foru < yqE &6l W e hiwd fhT S &1 STavashdl §, gUH A, = %
BH o a3 ATl iy e S9! 1 el UM e STIUH i Uehdl SR GHU ST/ el
=i, frorer ot Il a% ¥ HEER FF ITE AHETHER W T S 2 g, wiEd w9
Y ST 1 A S 1Al bl g | gRfEafas= g | chlj;iwwqfiw A ol SHfRTT
o Ty Tie SHTER Tk ST Rl U |

Selfer 2Ty & fraror & fau efiq=nfis sgaen iR HlHuvlqom anfef faerg 3 fafom &3l
F e TEATHS TSNS TAR fhT ST 1 STavasddar Wﬂﬁ%@ﬂﬁﬁmwmm
F TR YR AFaria: g a:rqtraaamf ﬁ?lmﬁ‘—lﬁ@@aﬁamﬁafw
TEHHeTIH IR faedae yafd & 8, feh fag fafvel st =ma, smifse sheamn oiR faswm
T g1 Wgad ®9 @ g9 A S g of Wwﬁjiwaﬁﬁamvwﬁqqnqm WA &9
¥ yafea ey Fre wgft & Hqul gted i s WWW&W@HWW
¥ frged % e 7€ vsfaal 1 @9 SR wEn fove S & i sTegdsh |

ST T AT TR TG qor § e G ffeed w9 Y o ¥ e A
T o i GRE H o TH H%ﬁ\w TSRl % ST ST W MG U afifeefa
SAfigm Tomifa erft 1 =afaa i orfa § ffvea ®9 9 3% w1 &m w5 erfe e 9=
aRfEerfasr=1 IsEfEl o HROT GRS €9 & STElhrl FagR &I 7Sl § iR o1+ oft 37 oA &t
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72.  What would be the role of voluntary organisations in an individual oriented strategy ?
(1) Engaging in protecting the vulnerable sections in society
(2)  Functioning in conjunction with families, communities and other social institutions

(3)  Working with those who, under situational compulsions, have fallen to a soc1ally deviant

behaviour and still have a chance to redeem {
7

{

(4) Moulding public opinion and in mobilizing social work [ 4

4
o

§ -
[
- ". L

73. How can the voluntary organisations help i ‘crime preventioi’l apart from a direct
intervention ?

£ -'I

¥ I
(1)  Functioning in conjunction with families, COn’TUI‘}.’itieS and other social institutions

(2) Working with those, under situational compuls1ons, have fallen to a socially deviant
behaviour and still have a chaxfe to redeem (

(3) Engaging in protecting l;??%/u_lnerable sections in society
A

(4) Moulding public opinion and in mobilizing social support for an effective implementation
of social legislation

{

-

|

74.  Which types of ipdividuals require differential handling in crime prevention ?

(1) The indivicfuals that commit crimes under situational compulsion and the organised
criminals

I
(2% The individuals that commit crimes under influence of drugs and peer pressure

(3) I;he individuals those who are involved in petty crimes

The individuals who are recidivists

IHIIHIH\IHIH IR z

@

Paper-III

www.examrace.com
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75. In the newly emerging forms and trends of criminality, the concept of social defence

requires :

(1) Innovation of and experimentation with new approaches besides a complete

reorganization of the traditionally operative crime control mechanisms

(2) Focus on crime prevention and treatment of offenders

(3) Forging of constructive linkages between the formal system and various Sectors of

socio-economic development

S

(4) Working in a just, fair and equitable manner, with due regard to human ri%h‘ts_ and

social justice
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Space For Rough Work

'f _1'-:
2 24,
r [
- L ) 1‘ :
> F
L L
[
't 4
T (
<
*'u |
; t ’{
|
- ‘ ’
( ’ )
(. )
r
o-uoss || I1AALA I 52

www.examrace.com



